843A

B 02 o R

N P L LA P A P £

‘.A‘.v

\YAAIYIYY

\,

I
N1

H.Ogun g0 0! CSlow Sgun ZOLe! SLLLINS S

(03) gosas plol

R e T
&35 3 Sl gl Ol
S el i plejle

(

(V1) oS = x5 Lbpgle

)

L Add VAt of Rl Do

L L N PO e

Y lgw 6 )les g Sl | Jloial Sleo ylgas

Slais U | Bylad 31 | Jlguw Slani Fie! 3o o,
. \ Y. (oSSl paaii § guges 0l | )
LY | Ya L L LSRN TS B ¢
A a8 Ya i gy g kel | Y
Ved A Ya wlas! pgle Jlo | F
Y. Ve ra FSU pgle Jao! | &

NOWWWE I E VR PRE LN PRI

218 e 550 9031 (!

Bygn 3 A e gl il b g i gn loe e sl 1 39000 L gl gl 3 A el el 3 409 3T 51 2 3 0 (ront Rty 5 ST) 5 8 0 T S g 5 i

0 R 0 oA B

AN

4

> AR

B 80 R R %

&

2

A




Y axio 843A (Y1) W5 e S5 llpele

ol (9031 dads 10 Lol jgua pus & s (b3 Jeuo Ol jade 1o Las! g Glakie 730 pos (ool )5 Llbogls

Blad ci0earkinSs o JalS AT U cocasicisimmisrnins el B tedl b o il
B &,.v .QY‘P :Ip').dé ! Mb&m‘.‘ dyb .A..J’. 4 09,9 Q)U 6YL3 » C).L}.n u.,.l.b,!o B)ln-:a b |) é,$ u.l..\.\.o
otledge a1 plaalienly el 9 ¥l i 335 (g5 1 0 299 J S oS

: (gadDl) (g g o908 HUj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an —--—--—-- -- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --------—--- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ~——--—------- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience --—---eemeev for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ---------- -
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -~ to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and -- --- from years of being out in the
sun and the wind.

----, he continued to assert that he was innocent and had

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the -—-------- -- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is to0 --——-—-—-- an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ----- . They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ~=—=eeeeeeem the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

PASSAGE I:

I have mixed feelings about this monumental 1600-page book. Most readers would not
be advised to buy it, but it would be a good addition to the university or lab library.
This is a very well written and very personal chronicle of cognitive science in the 20th
century. Margaret Boden, a British philosopher with strong ties to MIT, has put her
considerable energy and intelligence into providing a non-technical overview of many
(but by no means all) of the developments leading to the current state of cognitive
science, construed broadly as the inter-disciplinary effort to understand intelligence
using both biology and computation as cornerstones.

It is basically science journalism written by someone who has been passionately
interested in the developments. There is no technical detail. but she does try to convey
the scientific ideas in a general way. I quite enjoyed reading (parts of) the book and
even got new perspective on some events that I was involved in. The book has a good
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17-

19-

20-

deal of juicy gossip about personalities and conflicts. Margaret Boden has done an
outstanding job of promoting some of the forgotten contributors and tries to present a
balanced view, but she has her heroes. Heroic personalities help the narrative flow, but
it does detract from any sense of objectivity. For example. she dismisses some critics
of Minsky’s later work as “callow MIT graduate students hardly fit to lick his boots™ (p. 921).

The passage provides sufficient information to answer all of the following about the
book EXCEPT its —=--m=ememeemmm,

1) title 2) author 3) length 4) subject

In paragraph 1, the word “intelligence” appears twice. What do they mean?

1) In both cases, it means talent.

2) In both cases, it means discernment.

3) The former means reasoning and the latter means cleverness.

4) The former means brilliance and the latter means the skilled use of reason.

Which of the following best describes Margaret Boden’s style of writing?

1) Science journalism 2) Technical language

3) Objectivity 4) Comprehensiveness

The word *callow” in the last line is closest in meaning to --- 5

1) biased 2) immature 3) irrational 4) ridiculous
The passage is most probably ---—--—e-—v,

1) a post advertising a book

2) part of an encyclopedia on cognitive science

3) part of a book review in an academic journal

4) part of a library catalogue about a scientific book

PASSAGE 2:

In science, experiment without theory is blind, but theory without experiment is
empty. Artificial intelligence (Al) has made many theoretical contributions to the
interdisciplinary field of cognitive science. which also encompasses psychology.
neuroscience, linguistics, and philosophy. Until the 1950s when Al emerged, there was
no plausible explanation of how high-level cognitive functions such as problem
solving could be carried out mechanistically. The idea of mind as machine is ancient,
going back to the Greek and Roman atomists, but the idea only turned into a scientific
hypothesis with the development in the 1940s and 1950s of modern ideas of
computation. Since then, there have been major theoretical developments about mind
and computation coming not only from Al but also from cognitive psychology and
computational neuroscience. Cognitive science. however. has advanced not only
theoretically, but also experimentally, through the development of new techniques
such as reaction time measurements in cognitive psychology and brain scanning
instruments in neuroscience.
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Which of the following is the best title for the passage?

1) Advances in Brain Functions

2) Human Mind as Machine

3) Theory and Experiment in Cognitive Science

4) The Theoretical Bases of Artificial Intelligence

The passage mentions all of the following as disciplines embracing the field of cognitive
science EXCEPT -

1) anthropology 2) linguistics 3) philosophy 4) psychology
The word “plausible™ in line 4 is closest in meaning to --—--==-==eve- .

1) capable 2) credible 3) adaptable 4) debatable
The idea of mind as machine as a scientific hypothesis has been with us e .
1) since the 1940s 2) for 20 years

3) for 30 years 4) since the time of the Romans

According to the passage, which of the following statements is true?

1) Reaction time measurement is a new technique used in neuroscience.

2) Cognitive science has advanced far more theoretically than experimentally.

3) Reaction time measurement is a new technique used in cognitive psychology.

4) There have been fewer experimental advancements in artificial intelligence than in
cognitive science.

PASSAGE 3:

The Society of Mind theory was born in discussions between Marvin Minsky and
Seymour Papert in the early 1970s at the MIT Artificial Intelligence Lab. One of the
world’s leading Al labs, its explorations encompassed diverse strands of research
including machine learning, knowledge representation, robotic manipulation. natural
language processing. and commonsense reasoning. As a result. it was perhaps clearer
to this small community than any other at the time the true complexity of cognitive
processes. The severity of this issue may have been confronted for the first time in the
famous “copy-demo™ project. Toward the end of the 1960s. Minsky and Papert and
their students built one of the first autonomous hand-eye robots. Its task was to build
copies of children’s building-block structures it saw through cameras using a robotic
hand. In particular, Minsky and Papert found that no single algorithm or method was
adequate for solving even the simplest-seeming problems like assembling towers of
blocks.

Ultimately, these kinds of experiences led Minsky and Papert to become powerful
advocates of the view that intelligence was not the product of any simple recipe or
algorithm for thinking, but rather resulted from the combined activity of great societies
of more specialized cognitive processes. However, there were few ideas at the time for
how to understand and build systems that engaged in thousands of heterogeneous
cognitive computations.

What does the passage mainly discuss?

1) How the Society of Mind theory was born

2) Systems engaged in cognitive computations

3) The uniqueness of the MIT Artificial Intelligence Lab

4) The concept of intelligence perceived by Seymour Papert
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The passage mentions all of the following as areas of research conducted in the MIT

Artificial Intelligence Lab EXCEPT ---eeeemmemeaes,

1) robotic manipulation 2) computer vision

3) knowledge representation 4) natural language processing

What does “this issue” in paragraph 1 refer to?

1) The small community 2) The “copy-demo™ project

3) Commonsense reasoning 4) Complexity of cognitive processes
The word “autonomous” in paragraph 1 is closest in meaning to -—---—------=--- "

1) flexible 2) gigantic 3) complicated 4) independent

Which conclusion did Minsky and Papert arrive at?

1) Intelligence is the product of a simple algorithm for thinking

2) There is a single algorithm which is adequate for solving even the simplest-seeming
problems.

3) Intelligence results from the combined activity of great societies of specialized
cognitive processes.

4) There were brilliant ideas in the late 1960s about systems that engaged in thousands of
heterogeneous cognitive computations.
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